

DALE BEASLEY CONSTRUCTION

DAIRIAN BURKE

Town clerk | Howey in the Hills | 101 N Palm Ave

CONTACT

111 E Central Ave, Suite A Howey in the Hills, FL 34737 randall@teamdbc.com 407-490-6560

1/30/2020

Dairian Burke,

Thank you for the opportunity to bid this project, please feel free to contact us with any questions or concerns.

Sincerely,

Randall Crozier

RFB 2020-1



We have been in business for over 15 years in the Central Florida area and have current licenses in Underground Utility & Excavation, Fire Line, and Irrigation Specialty.

Certified Utility & Excavation #CUC057385

Class V Fire Line #042780-0001-2008

Irrigation Specialty Contractor #SCC131151540

We are currently working in Daytona on Hallifax Apartments a 2.9 million dollars site for Wells & Wells.

Contact Markys Mackey at markys@wellsandwells.com or 217-356-7030

We are also currently working on the Groveland Public Safety Complex, a \$680,000.00 project

Contact Ricky Rodriguez (engineering inspector) ricky.rodriguez@groveland-fl.gov or 352-429-0227 x12

We have recently completed a pond retrofit project at Twin Waters for Meritage Homes which was a \$300,000.00 project and have worked with Meritage on many other projects.

Contact Jeff Stalder (Land Construction Manager) jeff.stalder@meritagehomes.com or 407-571-1829

We completed a project in Polk County for Ashton Woods, (Hidden Lakes Estates a \$385,000.00 project)

Contact Joseph Webster (Director of Land Development) joseph.webster@ashtonwoods.com or 407-708-0151

DALE BEASLEY CONSTRUCTION

111 E CENTRAL AVE, SUITE A **HOWEY IN THE HILLS, FL 34737**

Phone 407-616-8769

ISLAND DRIVE

Proposal For:	Date	Job No.	
TOWN OF HOWEY IN THE HILLS	1/30/2020	300 140.	
Engineer	Plan Date	Revision	
GRIFFEY ENGINEERING INC	12/31/2019	NONE	

	GRIFFEY ENGINEERING INC	10/04	10040		1/64191011
	O.M. F. E. ENGINEERING INC	12/31/	0 972.93	NONE	
		# OF	UNIT	UNIT	
	MISC ITEMS	UNITS	TYPE	PRICE	TOTAL
1					
2	MOBILIZATION	1	LS	4,200.00	\$4,200.00
	SILT FENCE	706	LF	2.00	\$1,412.00
3	CERTIFIED AS-BUILTS	1	LS	3,800.00	\$3,800.00
4	CONSTRUCTION LAY-OUT	1	LS	6,500.00	\$6,500.00
5	MOT	1	LS	4,500.00	\$4,500.00
6	DEMO CURB	700	LF	14.55	\$10,185.00
7	DEMO 3' OF ROADWAY EDGE	700	LF	13.20	\$9,240.00
8	6" X 10' GROUTED PILE	59	EA	760.00	\$44,840.00
9	2' X 18" RIBBON CURB	350	LF	51.90	\$18,165.00
10	2' X 18" DROP CURB	350	LF	51.90	\$18,165.00
11	12" CONCRETE FINE BASE	235	SY	85.00	\$19,975.00
12	1" SP9.5 ASPHALT	540	SY	28.00	\$15,120.00
13	ASPHALT LEVELING COURSE	1	LS	6,500.00	\$6,500.00
14	IMPORT & PLACE FILL	270	CY	15.00	\$4,050.00
15	DEWATERING	1	LS	5,500.00	\$5,500.00
16	CLEAN 75' EXISTING STORM DRAIN	1	LS	7,500.00	\$7,500.00
17	SOD DISTURBED AREA (BAHIA)	1,700	SY	2.75	\$4,675.00
18	GEOTESTING	1	LS	5,500.00	\$5,500.00
	SUB-TOTAL				\$189,827.00
					¥ 100,021 .00
	TOTAL				¢190 927 00
		•			\$189,827.00
	ALTERNATE				

1 MILLING LS 8,670.00 \$8,670.00

NOTES

SITEWORK

- 1) Construction staking inclusive of contract items only.
- 2) No handling or removal of Hazardous waste or substandard soil (MUCK) removal included unless specified.
- 3) No allowance has been made for the relocation of endangered plants or animals.

UTILITIES/ STORM SEWER

1) Relocation conflicting utilities by others, if required (power poles, conduits, etc.)

ADMINISTRATION

- 1) This proposal is valid for 30 days from bid date.
- 2) Proposal inclusive of line items only.
- 3) No permits included, If required they can be obtained and charged by change order
- 4) No construction fence or baby changing tables in restrooms included

APPROVED	DATE



To whom it might concern,

In order to maintain accessibility for the homeowners we propose to demo and replace the curb completely on one side then excavate and redo the base on that side. Once that is complete, we would do the same on the opposite side followed by paving.

RFB #2020-1 TOWN OF HOWEY-IN-THE-HILLS ISLAND DRIVE IMPROVEMENT CONSTRUCTION PROJECT

HOLD HARMLESS AGREEMENT

In the event the completion of a project awarded pursuant to this RFB (to include the work of others) is delayed or suspended as a result of the Respondent shall indemnify the Town from any and all increased expenses resulting from such delay.

Mith Sees Signature of Respondent Witness

STATE OF FLORIDA COUNTY OF _____

Sworn to (or affirmed) and subscribed before me this 29 day of 300, 2019, by (name of person making statement).

Notary Public

Personally Known _____ OR Produced Identification _____ Type of Identification Produced



RFB #2020-1 TOWN OF HOWEY-IN-THE-HILLS ISLAND DRIVE IMPROVEMENT CONSTRUCTION PROJECT

NON-COLLUSION AFFIDAVIT

responded to the RFB for the Library Education Center Construction Project for the Town of Howey-in-the-Hills. This proposal has been executed with full authority to do so. This response has been arrived at independently without collusion, consultation, communication or agreement for the purposes of restricting competition, as to any matter relating to qualifications or responses of any other responder or with any competitor, and no attempt has been made or will be made by the Responder to induce an other person, partnership or corporation to submit, or not to submit, a response for the purpose of restricting competition;
The Statements contained within this affidavit are true and correct, and made with full knowledge that the Town of Howey-in-the-Hills relies upon the truth of the statements contained in this affidavit in awarding contracts for said services.
Signature of Respondent Signature of Respondent Witness
STATE OF FLORIDA COUNTY OF
Sworn to (or affirmed) and subscribed before me this 29 day of 309 , by (name of person making statement).
Notary Public
Personally Known OR Produced Identification Type of Identification Produced
My Commission Expires $1-10-27$



RFB #2020-1 TOWN OF HOWEY-IN-THE-HILLS ISLAND DRIVE IMPROVEMENT CONSTRUCTION PROJECT

DRUG FREE WORKPLACE CERTIFICATION

In order to have a drug-free workplace program, a business shall:

- Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against an employee for violations of such prohibition.
- Inform employees about the dangers of drug abuse in the workplace, the business's policy of
 maintaining a drug free workplace, available drug counseling, rehabilitation, and employee
 assistance programs, and the penalties that may be imposed upon employees from drug abuse
 violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under this solicitation a copy of the statement specified in subsection (1) above.
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working in the commodities or contractual services that are under this solicitation, the employee will abide by the terms of the statement and will notify the employee of any conviction of, or plea of guilty or nolo contender to, any violation of Chapter 893 or of and controlled substance law of the United States or any state, for a violation occurring in the work place no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in, a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace though implementation of this section.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

Signature of Respondent

Witness.